BEWRIETF R~ A ¥ — XA kETE RS
#E 20128511 A4H (H)

= MEEE /- (25m)

AEEH K

KF 25~20%%

25mB Rz

i ®&0O H Dz Hh— 158037
ofr Bl BT D W — 178553
M R LEALEA 20F580
50mE B2

1y Al|E fLF T Y— 358592
ofit EiE Vo H— 38066
3 IBEOL T FRERE 39%062
S50mIE K EF

Iz K K3 o KE 398013
27 WL D F iR KE 46%439
3y B HT VY 52084
100mE A A FL—

iy %e —IE Sl P o 15523522

-7 .-

i A e

11H4HE 15:56




F26[RI R T B~ A 7 — KKK RS

WH :20124£11H4H (H)

S MRERE 7 — L (256m)

[

5

T+ 30~34i%

25mB Bz

Ihr FFH -5 <~ AK— 155036
2N B[R A A EERRC 187503
e HH T =0 R ITR N 21769
50mB B2

Ihr RS L7 7y oR— 28%073
ofr —AIEF Jb - WERE O 29%950
e TEILD IERE 7 wN— 31F89
25mi ik =

U7 PR AR A EERRC 241948
50m ik =

A A Y — 347034
o —AMRBET Jb - YRR 345452
RV A4 N NI a8 AV Y7 36%049
100m& ik &

I =ARBT Jb - HERE R 177165011
25mIE K E

IR YA N NI a1 PSRBT 18%593
ofr I RAK =) X U FHT 20F007
S50mIEk =

hr A R =) I | FHT 43%15
ot —H I 7 = 50087
37 P IR Ay BARR C 53%59
100m3E ik &

6 I RRAK ) IR 1453317055
ofi TEHE A BARR C 245 24Fh47
25MmNR DS54

167 RN PR PR RLRN 177563
ofir FiH -5 ~ U AHE— 185940
e HH BT =) X [ RHT 24F517
50msR2 754

hr R % V- 317002
Ut AR T Jb e PR R 328047
3 EH O < A lapswim 33F59
100mEA A K L—

Iy L HERE T = 157217068
ofir M ik Qmaris 145522F526
fr A TR TIP=% 14523789

-28-

Hi 7T H I .

11H4H 15:56



F26[RI R T B~ A 7 — KKK RS

A :20124F11H4H (H) =Y BRRERS 7 — L (25m)

S

T+ 35~39%%

25mB Bz

IRV NN 4 7T T AR 15F048

oy TR VA 5 158478

3fr FHAK BE KEES C 165002
50mB B2

6y W Hr lapswim 28718 - KEHT

ofir FEFnfev ~ U AR — 328537

3hr MR AT - Bk 33538
100mE B2

LA R FE t+ o AR 145235087

ofir FEAk 3 KITZ 4R S 145275548
25mE ik =

6 fiBk  ERSE KITZ 4R SC 205920

ofir AR ER t - Hik 24F578

3hr BEEF i BN 2 32F089
S50m& ik =

6 KE BT INF =T 358041

ofr FH EFnfE -t <~ AH— 367508

. Lk BT 77w kT 39F061
100m& ik &

6 KE BT INF =T 155175024

ofir RN A&7 B I Gl 14521582
25mIEK =

Ihr P CF VAP NS 19F582

ofif Fin THE F7— 215590

3 /INERIR - KA 25F083
S50mIEk =

6y R lapswim 38FP95 - K=HT

ofir PHEE T VAN 43Fp12

. Flp THE FFT—R 4TF)86
100m3E ik &

Ihr P Cr VAP N 15y34%540
25mIN32 7S5 A

Iy HHERT T I T AR 165497

ofir /NE ik T T AR 178578

3fr FAK B KEES C 177582
50mNZ2 754

6 P A lapswim 33f22

H AW 11H4H 15:56

-29 -



ool B~ A 2 — XKkt ke
A :20124F11H4H (H) 2 BRERE 7 — /L (25m)

A

100mfE A A ~ L—

iz B FHT lapswim 155708%029 - K5
ofr Ak PHEE KEES C 14332F095
Ry AN p'a PN 14533%047

HAHKE: 11H4H 15:56
-30 -



F26[RI R T B~ A 7 — KKK RS

WH :20124£11H4H (H)

S MRERE 7 — L (256m)

[

5

T+ 40~445%

25mB Bz

6 KRR ZEFN B I Gk 147583
ofir Bt ERE PR 2N 145590
Mt HR K B I GH#i 147594
50mB B2

6y =iiE T gl 32809
ofir A EE #lkE S C 327063
3hr RS EFN B I GHik 32fh64
100mE B2

AR N NG TS S PN R, 15721835
ofr Il i ~ AR — 14527%590
25mE ik =

Ihr R EF KITZ4:{R SC 198439
ofir HARSEER PR 2 19%555
e B BE CENRZRSC 22F555
S50m& ik =

I SREERT - K& 391936
ot K EA KITZ 4R 3L 40533
3 HARSE(ER VAYY 1) 445538
100m& ik &

Iy BR - KA 143235010
o6 K EA KITZ 4R 3L 14528F037
fr K/NEA oo TR 143505032
25mEik E

67 ROt SERE PR ZJEN T 19%549
oy BpIF FET P 2 2036
3fr IHARSEER PR 2 f 22Fb44
50mIE ik E

6 FkoT SERE PR 2 EN T 42F567
ot A HEE #kE S C 43Fp44
3r BpSF FET WYY 5=} 475528
25MmNR 754

6 Rk BT VAP Ni§ 15¥540
27 Pl ~ AR — 17#043
T mA T 7w R— 185492
50msR2 754

6 Bk BT VAP Ni§ 34Fh24
ot HR K B I G 365003
e KH/NEA o AR 50F067

-31-

Hi 7T H I .

11H4H 15:56



ool B~ A 2 — XKkt ke
A :20124F11H4H (H) =Y BRRERS 7 — L (25m)

L S A

100m/ N2 254

I REEFXT - KAWL 153245041
ofir i Xb C F {7 155417508
100mEA X KL —

W 'R ¥ - KA 1452275592
o FHA O KFE B 1 GHii 145237053
e A EE #lk S C 145265505

HAHKE: 11H4H 15:56
-32-



F26[RI R T B~ A 7 — KKK RS

A :20124F11H4H (H) =Y BRRERS 7 — L (25m)

S

T+ 45~49r%

25mB Bz

Ihr A BT 7T FIT 14¥514

ofr AEAT AET o) It 168527

RV VARNEEL S SUP =S AV Y7 17#534
50mB B2

6y fEE SET 77w kT 35%041

ofir. BCH gl FTTr T 361044

M BHETET 4ST 37FP09
100mB B2

I gARHEE DT A S 143115066

ofr MIH IR 4ST 143455549
25mE ik E

Iy KB T 7 R— 20F084

ofvr TS T PR 2RI 227013

r EA T PR Z LRI 22F529
S50m& ik =

Ihr BX B F MRS hH 40F015

ofir TE¥ 77w kT 41505

. EERAHAHLZ TIPS 2N~ 437501
100m& ik &

N BERHDZ TIPE 2~ 157358578
25mIEik E

hr 12 e PN ZEE L 23%59

ofr TR ARF PN 25F598

37 PrH EZE URAVN Y7 26%985
50mE ik E

7 $RERFDT- A A 417529

ofir. BCH gl T T 437074

e AR HE AV Y7 467965
100mEk &

e BX BT NSNS 157458096

ofr WY E£FHF B I G 14546F066

3fr /INSEJR 2E o) I 155508574
25MNR 754

W AT Br 77T VT 165453

ot R B+ ANYASORS 168073

e BETET 4ST 198021
50m/N2 754

6 ex R TIPE 2/~ 47520

-33-

H ) B

11H4H 15:56



ool B~ A 2 — XKkt ke
A :20124F11H4H (H) 2 BRERE 7 — /L (25m)

A

100mfE A A ~ L—

17z ERHELFD T AT F 14520F588
o HPE I P ZFEM 14530F500
phr ABEED T B I G#iz 145337042

HAHKE: 11H4H 15:56
-34 -



F26[RI R T B~ A 7 — KKK RS

WH :20124£11H4H (H)

S MRERE 7 — L (256m)

[

5

ZF 50~b4r%
25mB Bz

h:e I’ BT T AR 145021 - K&

ofiz HR FLE 77w kT 16§17

3 EMR ZETF & < BIKPKAF 165432
S50mBE B

he | FHF o AR 307030 - RaHT

ofir IR 757 VT 357034

3 R T P 2 R, 357085
100mE B2

he | HF - R 15707FP52 - R¥r

ofir HER B 77w kT 145295579

3fir A T 77w kT 145335043
25mE ik E

U AN i s LEALEA 20046

oy —IH M AL LT 20F)86

3L BARHET 48T 23F053
50mE ik &

he R BT 3BB 368008 - KEHT

2 A LA Bk - S 48596

L BHROA R PR Z LRI 51049
100m&E ik &

I R 1R AL - S 145505528
25mIEK =

Ihr —AREFET FTT 75T 19%568

ofr /R 9Lh3E B I GH#ii 20Fb42

3 HR B 77w kT 23%522
S50mIEk =

6 /MNE BLEE B I GHfik 45%584

ofr AN HHEF 7w kT 48%549

37 HGHAE T B1GHE 48F572
100m3E ik &

s o EHT FTTI5T 14338%85

ofir /N BL3E B I Gz 145405549

3 PAATEMRT FTTTrTT 14552061
25mIN32 754

Ihe bk ZFEF & < BIKPKkAF 17%590

ofir HIE BT AR A 17598

3Gt ANEFER T 77w kT 18F060

Hi 7T H I .

11H4H 15:56



F26[RI R T B~ A 7 — KKK RS

WH :20124£11H4H (H)

S MRERE 7 — L (256m)

[

5

50mINZ2 754
I —AREXT FTII 5T 3789 - KT
ofir B FET & < B IKTKBF 42F544
3z HEE FET AR A 45F518
100mE AN A K L—
A SR 7T IT 143305981
ofir FTH  ET T 57 145395047
Y VAR A LTT 1455415583
H AW 11H4H 15:56

-36 -





